KBGEDREMSRE=42 ) L TREHER
(2 8FEEE 20 A : #k#iE+ ) I2D21WT (E#H)

Frpk 2 8428 H 4 H
JE -7 S E B R AT (i A7 8E)
i B IR R FE R RAE (R ) BE)
GAEHROME)
WA K IS 26 ML O « /R BT 2 28 M EF1L 0.02 ~ 0.09uSv/h THY |, &5
B ) R ERTEMEN BT D RN O BRBHR DO L1 L FEIRRE T L7z,
Fro. WK - WK FORGHEE U AREIL, 2TOMA TR TLZ,
k. KT (WbEHNA LK) OER—F LN Y F 7 LD TIE, o
WDV IRE, ARWIZLET,

FRATH H V2 8 T7TH19H~7H22H
2 ALK 2 5l (KIS 1 4 85, VKIS 1 1 #5)
XOWAKIBGHIIOWTIE, SEMRLZVWEZALHAELTEY £7°,

3 ARG R
(1) Wi - MR COZERBRER
0.02 ~ 0.09 uSv/h (%5 1 [EAERE R £ 0.03 ~ 0.08 uSv/h)
(2) WK - HEK T OREMEY T LR E
At H (%6 1 BIAER A « AR )
(2%)

1 FEANZIRT 2 RN ORI ESE
0.02~0.13 uSv/h (M1 1 m)
SRk 22 1 BRNOBESR L~ Vilid ] XKD
2 KBGO SEWE AR D KED B
e > ™ 2 10 Ba/L AT
KIS ORI D8I DWW T BREE) 1 LY

(WA HERER=E HEiE 024-521-8498)



KRG DEREE T =2 U o 7R &) Gtk g)  GaR)

Pk 2 848 H 4 H
et B VR A AR AR =R
Koo KRBT

FR L
Wb
WU E O 22 R RS (1 Sv/h) WK ST OB ERE (Ba/L)
We| KSR RS ED | g | M g ksoen | ke | A | sk ff‘fjj'f A [P
A EBRRR T DK
1 IR 1195 TH22H | 0.03 0.03 0.03 [7H228 fé 1?: I?i
2 o SRR T 7TH22H 0. 04 0.03 0.03 |[7H22H fé Iﬁi gii
3 TN TH22H | 0.05 0.05 0.04 [7H228 fé 1?: Iﬁi
4 Rk TH22H | 0.05 0.06 0.05 [7H228 fé ;ti: Iﬁi
- ' ' EIE] A At
5 KA e TH22H | 0.04 0.04 0.04 [7H22R ;‘;E jzi ﬁii
6 EH TH22H | 0.05 0.05 0.05 |7H22A == ST
- . ' ' ' #E AR AR
7 NSVaH: — TH22H | 0.06 0.07 0.06 [7H220H ;;E jﬁi ﬁi:j
8 TR I TH19H | 0.05 0.05 0.05 [7TH19A = ﬂﬁtﬂ ﬁéﬂj
9 TR 7TH19H 0.05 0. 04 0.04 [7HI19H fg ;;: ;i;:j
10 (sl TH19H | 0.05 0.05 0.04 [7TH19A fg ;f;: ;:;:jj
11 Pl S BRI 7TH19H 0. 06 0. 06 0.05 [7HI19H fg Izi izﬁj
12 biipe </E| 7TH19H 0. 06 0.05 0.05 [7HI19H fg izﬁ ;z:ﬁ
13 B TH19H | 0.05 0.05 0.04 [7H19R fé iﬁﬁ ;gﬁj‘
14 BRI TH19H | 0.02 0.03 0.03 [7H19H ié Iﬁﬁ ;gi
15 Ltp=y TH19H 0. 05 0. 05 0. 04 THI19H fg izi ig:j Zﬁ;i gg::
. VIENE S Wb il (kY| THI9H 0.05 0.05 0.04 |7HI19H i:g 1§ﬁ 1%;‘ = —
nk () THI9H | 0.05 0. 04 0.05 |7HI19H i:’; Igi iiﬁﬂj Z;ﬁi zﬁqﬂ
4 BB S AL TRV IKIRY
17 Sl Brumy 7H20H 0.03 0.03 0.03 |7TH20H | 4T HEY| AR A
18| JHZ - Rt )i 7H20H 0. 04 0.03 0.04 [7TH20H | BT HES| At A
19 Bl LT 7TH20R 0.04 0.04 0.03  [7TH20H | BT HES| At R
20| A2 - st 7TH19A 0.07 0.09 0.09 [7THI9H | BT HES| At ]
21| B e—F WK Y| TH19H 0.04 0.04 0.04 [7THI9H | BHTHES| A el
22 i 7TH19A 0. 06 0. 06 0.06 [7THI9H | BT HES| A ]
Wb
23 A 7TH19A 0.05 0.04 0.04 [7THI9H | BATHE| AR ]
24 K I 7TH19A 0.04 0.03 0.03 [7THI9H | BT HEE| AR ]
25 NG 7TH19A 0.04 0.04 0.04 [7THI9R |BEHTHEE| At A

KB VER B I L SR IRFMEARG O 5813 TARBH ) &Rt (M IRAVE IS M o 7 A 1Ba/LEREE)




KBHRAE R

[ Bl . kase |

=P E VLKA
| 7 tFE | X SERBRShTLVELK

17 BOERE % |

18 BZ EE X% |

| 4 RiE

| 3 MayiE

19 R X |

2 HHE

20 AZERYE X

15 WA |
21 HBFE—F x|
22 @R x|

23 BE x|
| 12 MLE | | 11 FfHER 24 X X% |
= U
| 13 FHE | | 10 #BiE 25 /IVE X |
B 1L/z< —
| 12 fENE | | 9 BiR&E | 16 )% |

| 8 REXIE




FE AR R K

4 Kk

3

ING TR

2 HHE

14 Rk

13 FHE

TR AW

12 FHEAE

8 EHE

9 HRE

10 fEkE

11 FHEE




KBS (RS EES I L)

3 Mayrik

=B TR
ENERE N s
2 HE
RE: T
TR : T
1 IF)E
KRB T
TR : A%

HAK BB DEmMGE %

hf\,

4 KR
RE B
TE: A

Rl . KisigH
BOKME : StV LRE

BENH

5 RfE
AR s
TE: A

6 HEHE
EAERE N
TE: A &

7 LFiR
RE TR
TRE: A&

8 JERRIE
RE T HH

R
No | ka4 | TEIAE | G tiom) | D-%0em | HEIm
ERREFE (U Sv/h)
1 )1 0.03 0.03 0.03
2 hHE | SEERT 0.04 0.03 0.03
3 INETR 0.05 0.05 0.04
4 RE 0.05 0.06 0.05
5 KR . 0.04 0.04 0.04
6 =mE | EEA 0.05 0.05 0.05
7 LtEE 0.06 0.07 0.06
8 JERRE 0.05 0.05 0.05
9 EIRE 0.05 0.04 0.04
10 i 0.05 0.05 0.04
11 FHER i 0.06 0.06 0.05
12 FHEAE 0.06 0.05 0.05
13 TR 0.05 0.05 0.04
14 BlE 0.02 0.03 0.03

14 FULE
EIERE N T
TRE: A &

13 BRIE
RE B
TB: I EH

TE: A~

9 HEIRE
EERE 1]
TRE: &

10 #EE
RE T
TR %

11 fHEERE
KRB TRH
TR T

12 FHEAE
REB TR
TRE: 71




BIKAE (RS TR VL)

| i

(=

BEAH
15 WA
IR i
TRE: A&l
N NN 1= =3z . : '
( BKBIZDERBBRER K 22 WK
ﬂbiﬁ 7 T i
N | kiaBE | HETHA | (b tiom | BES0em | HEIm
ZERR4R B (U Sv/h) ——1 =
15 mE 0.05 0.05 0.04 24 KiE ¥
16 PEGEL) | LWhER 0.05 0.05 0.04 3 L7
16 PNE () 0.05 0.04 0.05 BATB R TR
17 RHIE i BT 0.03 0.03 0.03 1 =
18 EL-BE | B! 0.04 0.03 0.04 16 713k (dk)
19 El [eakizlNil 0.04 0.04 0.03 =B TR \
20 Az KL 0.07 0.09 0.09 ERER
21 BEFE—TF 0.04 0.04 0.04
22 SR 0.06 0.06 0.06 16
23 = WhEh 0.05 0.04 0.04 i}g%;ﬁgj)
24 Tk I 0.04 0.03 0.03 i
25 INE 0.04 0.04 0.04 TFE: Tt

o) ey

RABI - KisisR
BOKGE MtV LIRE

X SEBARSNTOELIKEE

17 #9EmE X
BITHRR: TR H

18 RE-BE X
RITHI: TR

19 R X
EITHIE: TR

20 AZEHI %
RATERE: TR

21 HBEFE—F X
BITBR: AR H

23 2 X
BATHRR . AR

25 NVE X
BATHRE: T




